
He Could Not Save Himself  
(Pastor John Brackbill/Luke 23:39-43/4.6.12) 

 
 
 

The Wrong Understanding of the Cross (39) 
 

• A wrong understanding of the cross Involves a ____________________ of sin  
 

• A wrong understanding of the cross involves a _______________ of Christ  
 

The Right Understanding of the Cross (40-42) 
 

• Having a right understanding of the cross never comes _____________(40) 
 

• Having a right understanding of the cross involves acknowledging 
________________judgment (40) 

 
• Having a right understanding of the cross involves acknowledging Christ’s 

______________ (41) 
 

• Having a right understanding of the cross involves __________________ for mercy on 
the basis of it (42) 

 
The Promised salvation at the Cross (43) 
 

• Christ’s _________________ 
 

• Christ’s _________________ 
 
 
 
 
 
 
 
 
 


